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Sukka 13

Intro

Today we will 7’va learn » 97 of 7310 "on

Some of the topics we will learn about include the following:

What types of bundles are
permitted to use as 12D
and

What types of bundles are permitted, or forbidden to use as 750,
and how many pieces are considered a bundle.

What type of m7m can be used for the mz» on noo?

What type of Mn can be used
for the mxp onNDO?

The nxmv status of stems and other non-edible portions of
produce

The NN status of stems

Some of the key terms and concepts we will learn about

Py include: and other non-edible portions
mb 0w - an accompanying name. When a modifier is added to OfprOduCE
the name of something, it indicates a specific variety of that
species.

2nR - Hyssop. There are four times the 70 requires anx: Itis
burned with the 717X 7179, it is used to sprinkle the water on the ,1 15 Dw
RV person, it is used to sprinkle blood on the Yz, and it was

used to put blood on the doorposts when the Jews left Egypt.

ANN

127IRT 97X - a hut made from willows. *"w1 says bird hunters
would make them and sit in them while waiting for their prey.
The bottoms were braided together and held with ropes and

ilvlﬁllf ;Or%i) \gould be bent towards the center and tied together 5 J :71 N7 5 D ,7 x

mT - Handles. Food can become Xpv even if the ‘handle’ of the
food, like the stem, touches the 8o thing as well.

5IR NNV - the nRmw transferred by being under the same roof n17’
as something RV,

® 5N NIV
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So let's review...

The X2 continues to discuss valid and invalid 700 and quotes 2
cases similar to our mwn on the previous Daf, which ruled that
bundled 750 may not be used 131277, However,

27X D73 27 MR

1712 330D RO TT RMPOR N7 -

Shoots from the base of a palm tree can be used as 7o0.
Similarly,

ROW 72 RP27 IR RTOM 17 IR

12 PO IPT YT I -

Stalks of cane plants can be used as 7oo.

PTIRT VN -

Even though these plants appear bound, as they grow in a
cluster, they are 7w>, because

TIR POV XY DOV OITI TR -

A bundle that is made by Heaven and occurs naturally is not
considered a bundle.

12 TR ITIT VYR -

Even if he then ties them up, they are still 7w> because
TIRTPPY R? TN TR -

A single item bound to keep it tight is not called a bundle.

Having quoted X70m 17 in the name of XYW 72 Ry27, the XM
quotes him again.

RPIRT R 10

MD92 1NN T 1A RSP DTN

A person can fulfill the Mitzvah of maror with RmIRT XD -
Maror from the marsh, which *wA says is DR Yw nwn - a type of
lettuce.

The X2 questions this from a mwn regarding 7R 779;

7 2R RO 2NR....

mH oW 1L VW IR R

When the 7m0 says to use 21X - hyssop, only what is referred to
as simply 21X can be used, and not something that has an
additional modifying name, as j 21R, etc.

So too, XmaxT X771 should not be valid for the Mitzvah?

The X3 offers 2 answers -

7NN TR Y TINWIY 53 IR MR

5P ATOPM AN DR

mHow > WY M3

Anything that was known by a modified name before the 7mn
was given, and then the 77/ mentions it by its simple name, the
Totah is excluding all those with a m5 ow. However, X3 n
RPINT was always known as simply 717, and is therefore not
excluded.

W RPND RN 737 IOR K17

RIIRT RPN IPT R

RPINI MONWHT DON

N17 says marsh maror is actually just simple W . Itis only
referred to as marsh maror to identify its location.

MR NRAND NAMaR UR

DafHachaim.org

Bundled 15D may not be used 132770

29 918 5701 29 MmN
oD NPIPDN NPT
W13 1950

NTOM 27 N

RO 93 8337 0N
e 3PT PYT IA
/ 12 2200

Even though these plants appear bound
as they grow in a cluster - they are Yw>

Sk DM £ 30> 3k

K" 93 K137 1N KTOM 27 1N
NRINT NP9 27
F0D2 N2 ¥T7° jina KXY QTN

77:“8”
" AN N9
SN N
Lo o o e

NRIRT NAM™OD

'////oé

9N N9 NN N
YaR! AN 53
M0 A 0P
9P MTERM MR NN
b w5 e s

19 1P N
NPINT R0
NIPIND MR DN
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The xmx clarifies how many pieces bound together are
considered a bundle.

RTOM 17 IR

TIR PPV R? TN TR

A bundle of one is certainly not considered a bundle.

TR POV WHV

A bundle of three is certainly considered a bundle.

1327 °0Y "I PN DI -

A bundle of two is a Machlokes whether it's considered a
bundle regarding the 2118 used for the 7m7X 779 - because the
Posuk in X1 nwIo says;

AR NTIR DONPYI -

Y ou shall take a bundle of 218 to put blood on the doorposts the
night before leaving Egypt. We derive from there that whenever
the Torah requires 21K, it must be a bundle.

After a brief discussion the Gemara concludes as follows:

The mwn says P53 TWHY 172 5P MwHY, three sprigs which
each have three stems, one stem per sprig.

oy 3 holds;

2005 nwbw N> N

DI PP

5109 TR PPV

We must start out with three stems, but if one falls out later and
only two stems remain, it is still valid for use. However, if only
one is left it is invalid.

The 1271 hold;

mznk TwHw NN

DI N> N

I TR PPV

15nno5 we should start out with three, but we can start out with
at least two as well. And if later only one remains it is valid
The Mishnah also says;

RIW 93 POITIN

Even if only stubs remain, it is still okay.

The X2 continues to discuss bundles of 7o0.

RaR 7 said that "12787 573, huts made from willow branches,
can be used as 700 after the upper knots are untied. Even though
they are still tied at the bottom, X995 27 says they are valid if the
lower knot was untied. The strands of willow are only braided
and not actually tied together. Wi 277772 8N 17 says even if
the bundles are still tied at the bottom they are valid as 700
because TR 7Y R 150507 MY 1R TR Y, a bundle that
cannot be carried is not considered a bundle.

DafHachaim.org

How many pieces bound together
are called a bundle by the "DYTR "D
X7on 37 N
TN T &Y - T2 TN
N T - whe
=R A=) A npn‘mn - Qv

=N TN nnﬂ‘p’:w

We derive from here that whenever
the Torah requires TN, it must be a bundle

YN
PR3 b (oY ndp MY
1329 oYM
mIXKd oY RN 2oy5 by nSnn
BME RSN oML 1L
D TN 1N beon TN e

N2 59 1Y
Fven %onl%ifuéyrm - ’wu‘é%gw%

NaN "
NININT Y
can be used as 20

a%fer the upper knaty
o4

NDD 29
it iy valid
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PYAMY 297 792 N1 29
are untied
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because
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The X2 continues;

SRIDY IR RIR V'R

MDH2 NN T 72 R OTR DI IIDRY NPT

IR DIWH IO PO

Actually vegetables that may be used for Maror are 09 700 -
invalid 700, because they are Iz Yapn, since they are a food.
Now, as the Gemara rules on 1" 97,

509 oo invalidates the Sukkah at a width of four onov.
However, 71X - an open gap of space invalidates the Sukkah ata
width of three o'nov.

Therefore these vegetables will invalidate the Sukkah at a
width of three om0V,

o1 7379 W 0T P VD

MT T RN

Since they will very soon dry up and crumble, they are consid-
ered non-existent.

The Gemara next discusses the Halachah of 7> - which means
that a handle of something - for example, the stem of a grape, is
considered part of the fruit to acquire and transmit Ix».
However, that is only with grapes meant to be eaten, because
the 7 is useful, and serves the need of the fruit.

Therefore, the Gemara says;

M2 PR MY 93137 -

Grapes harvested to make wine - its stem does not have a 7 77,
because

NS 7RI RYT D RMPINDT -

He'd rather not have it there, because it will absorb some of the
wine - not only not useful, but detrimental.

However, there is a Machlokes regarding

9005 I3 -

Stalks of grain harvested for 700. The grain is a food and Yap»
ARmY, and therefore 5100 700 - while the straw which is the
N9 - the refuse, is not IRV Yapn, and is therefore Yw> 7o0.
RIN 27 IR RT3 92 R'WID 17 says;

M7 1% PR 905 3PN

The straw is not a 7 of the grain, because it does not serve the
grain, since he has no need for the grain - and the grain is
actually detrimental in its present use as 700. As Rashi points
out that before threshing it is 7w> 790, only because the straw is
the majority. However,

R117727 IR R2X °27 holds

mT15> W 7905 1PN

The straw is a 7> of the grain, because the grain is useful in its
present use,

17725 857 - So that the straw does not scatter.
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DRI N NN TN
MO YN2IA YT 12 RXY DTN D200 1N npae
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Vegetables 5D oD
that may be used  invalidates
for Maror  the Sukkah at
are actually a width of
5DD oD four DnoL

these vegetables
will invalidate
the Sukkah
at a width of
three DNV
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is considered part of the fruit
) and can acquire
and transmit
NNDID

because it serves the needy a% %&%V wit

M5 PR IS 80
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The grain is a food MR The straw is the NOIDD
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The X cites a Xxn12 which discusses whether branches with
figs, vines with grapes, straw with grain, and palm branches
with dates can be used as 7o0.

The Rip NN says;

77w YIRSV 72 100 OR

79109 IR? DN

They can only be used if the non-edible portions are greater
than the food portions.

POIIRA SVI MR 5V P POR W TY DR DINN -

They can only be used if the non-edible portions are greater
than the food portion AND the handles combined.

The X2 assumes their reasoning to be that
7R hold m7 175w - the 7 is part of the ™9 - and the
NP Rin holds M7 7% PX - the 7 is not part of the o -

The Gemara explains:

RaX ‘3, who said m7 15> v 7905 9317, must certainly follow the
opinion of 01K, and cannot be reconciled with the opinion of
the Nip Rin.

However, even XT3 32 Rwin 29, who said m715 PR 3905 9310
would in this case agree with the opinion of 0nx. Because, the
Braisa is speaking of a case where

72705 175 1on1 IR [RRIPW -

It was initially cut to eat, when it did acquire a 7 77, and
therefore, even when he decided to use it for 300, it does not lose
its 7 7. Whereas the x»p X1 holds 7502 71205 1775 51237 v
nawm 75 - it does lose its 77 1.

This discussion continues on the next Daf.
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Vines with Grapes, Straw with Grain,
and Palm branches with Dates
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